KoHTponbHasa paborta Ne 3
«OAHOYNEHbI U MHOTO4Y/1I€HbI»
BapuaHT 2

1. IIpenctaBuUTh B BUJE CTEII€HU BBLIPAXKEHUE:
1) 52 . 5% 2)28:24 3)(3%)? 4)48.- 78 5)(x?)°:x3

2. YIOpOCTHUTHL BhIpayKeHUe:
1) (5m2y3® + 3m3y? — m) — (83m?y3 + 2m + 3m3y?);
2) 3x2 (b + 2x) — 2x (2b%x + 3x?)

3. BRIDOJHUTHL AeHCTBUSA:

_l 3h4,2 gt _l_ 2hnd .
1)( 7abc)( 32abc ),

LI 3 3 w)
2) (Zm +—5nJ[—5n—-2m ),

3) (18x3y3 — 12x%y) : (6x3y)

4. YnpocTUTL BBIpAKEHUE

(B3 - b2) (B3 + b2) — (1 + b2 (1 - b2 + b?)

M HaAWTH €ero 4YHUCJIOBOoe 3HaueHwe npu p = 0,1
5. Peumurs ypaBHEeHHE

x(x+2)-(x+3)(x+1)=2x+3

Omeemeoil:
1) 1) 511 2) 24 3) 36 4) 288 5) x’.
2) 1) 2m?y3 - 3m 2) - 4x2b? + 3x2b.
1 9
3) 1) 3 a’b>c® 2) o n?-4am* 3) 3y?— 2x.

4) - b*-1; —1,0001.
5) —1,5.



